
l;=g_= lzif{s <sd ?= s}lkmot

1 ;DklQ s< 17,309,667.73      

2 ;<;kmfO{ z'Ns 753,155.00        

3 #< jxfns< 1,769,060.21       

4 lj!fkg s< 173,100.00        

5 dgf]<~hg s< 9,000.00          

6 Joj;fo s< 3,644,979.61      

7 ;<sf<L ;DklQ jxfnaf^ cfo 600,151.50        

8 cGo ;]jf z'Ns tyf ljqmL 814,846.00       

9 gS;fkf; b:t'< 6,264,284.73      

10 l;kmfl<; b:t'< 4,841,395.65      

11 JolQmut #^gf btf{ 57,240.00         

12 k|zf;lgs b)* hl<jfgf 147,500.00       

13 ljkb Joj:yfkg z'Ns 169,500.00        

14 cGo ljljw cfo 1,658,424.00     

hDdf 38,212,304.43    
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